

-

/

2006/3/6

2005/11/28

-

-

. Samoilenko

ABSTRACT

In this paper we study the existence and approximation of the solutions for some systems of nonlinear integro-differential equations with having retarded arguments and boundary conditions. The numerical-analytic method has been used to study the periodic solutions of ordinary differential equations which were introduced by A. M. Samoilenko.

[5] Samoilenko

[3,4]

$$\frac{dx(t)}{dt} = f(t, x(t), x(t - \tau), \int_t^{t+T} g(s, x(s), x(s - \tau)) ds) \dots\dots\dots (1)$$

$$A_1 x(0) + B_1 x(T) = d_1 \quad \det B_1 \neq 0 \dots\dots\dots (2)$$

$D \quad x \in D \subset R^n$

$$f(t, x, y, z) = (f_1(t, x, y, z), f_2(t, x, y, z), \dots, f_n(t, x, y, z))$$

$$g(t, x, y) = (g_1(t, x, y), g_2(t, x, y), \dots, g_n(t, x, y))$$

$$(t, x, y, z) \in R^1 \times D \times D_1 \times D_2 = (-\infty, \infty) \times D \times D_1 \times D_2 \dots\dots\dots (3)$$

$$R^m \quad D_2 \quad D_1 \quad t, x, y, z$$

$$d_1 \in R^n \quad (n \times n) \quad B_1 = (B_{1ij}), \quad A_1 = (A_{1ij})$$

$$\| f(t, x, y, z) \| \leq M, \quad \| g(t, x, y) \| \leq M_1 \dots\dots\dots (4)$$

$$\| f(t, x_1, y_1, z_1) - f(t, x_2, y_2, z_2) \| \leq K_1 \| x_1 - x_2 \| + K_2 \| y_1 - y_2 \| + K_3 \| z_1 - z_2 \| \dots\dots\dots (5)$$

$$\| g(t, x_1, y_1) - g(t, x_2, y_2) \| \leq L_1 \| x_1 - x_2 \| + L_2 \| y_1 - y_2 \| \dots\dots\dots (6)$$

$z, z_1, z_2 \in D_2, \quad y, y_1, y_2 \in D_1, \quad x, x_1, x_2 \in D, \quad t \in R^1, \quad \tau > 0$

$L_2, L_1 \quad K_3, K_2, K_1 \quad M_1, M$

: [5] 1

(1) -

$$T \quad t \quad (2)$$

$$: \quad T- \quad (3)$$

$$D_{1\beta} \quad D_{\beta} \quad -1$$

$$\left. \begin{aligned} D_{\beta} &= D - (M \frac{T}{2} + \beta_1) \\ D_{1\beta} &= D_1 - [T(L_1 + L_2)(M \frac{T}{2} + \beta_1) + M_1 T] \end{aligned} \right\} \dots\dots\dots (7)$$

$$\cdot \|\cdot\| = \max_t \|\cdot\|, \quad \beta_1 = \|B_1^{-1}d_1 - (A_1 B_1^{-1} + E)x_0\|$$

$$W = [(K_1 + K_2) + K_3 T(L_1 + L_2)] \frac{T}{2} \quad -2$$

$$W = [(K_1 + K_2) + K_3 T(L_1 + L_2)] \frac{T}{2} < 1 \quad \dots\dots\dots(8)$$

: [5] 2

(t, x_0) μ

$$\frac{dx(t)}{dt} = f(t, x(t), x(t-\tau), \int_t^{t+T} g(s, x(s), x(s-\tau)) ds) - \mu \quad \dots\dots\dots(9)$$

$$(t, x_0) \quad (1) \quad \Delta- \quad T \quad t$$

...

-

(2)

(1)

:

: 1

$$0 \leq t \leq T$$

f(t)

$$\left\| \int_0^t \left(f(s) - \frac{1}{T} \int_0^T f(s) ds \right) ds \right\| \leq M \alpha(t)$$

$$M = \max_{t \in [0, T]} |f(t)|, \quad \alpha(t) = 2t \left(1 - \frac{t}{T}\right)$$

:

$$\begin{aligned} \left\| \int_0^t \left(f(s) - \frac{1}{T} \int_0^T f(s) ds \right) ds \right\| &\leq \left\| \int_0^t f(s) ds - \frac{t}{T} \left[\int_0^t f(s) ds + \int_t^T f(s) ds \right] \right\| \leq \\ &\leq \left(1 - \frac{t}{T}\right) \int_0^t \|f(s)\| ds + \frac{t}{T} \int_t^T \|f(s)\| ds \leq \\ &\leq \left(1 - \frac{t}{T}\right) t M + \frac{t}{T} (T - t) M \leq \\ &\leq 2t \left(1 - \frac{t}{T}\right) M \leq M \alpha(t) \end{aligned}$$

:

L

$$Lf(t) = \int_0^t \left(f(s) - \frac{1}{T} \int_0^T f(s) ds \right) ds$$

Lf(t)

[0, T]

f(t)

.

: 1

(6) (5) (4)

(2)

(1)

(t, x₀)

x = x(t, x₀)

(8) (7)

-:

$$x_m(t, x_0) = x_0 + \int_0^t f(s, x_{m-1}(s, x_0), x_{m-1}(s-\tau, x_0), \int_s^{s+T} g(t, x_{m-1}(t, x_0), x_{m-1}(t-\tau, x_0)) dt) ds +$$

..... (10)

$$x_0(t, x_0) = x_0 \quad m=1, 2, \dots$$

$$\alpha = \frac{1}{T} [B_1^{-1}d_1 - (A_1B_1^{-1} + E)x_0 - \int_0^T f(t, x_{m-1}(t, x_0), x_{m-1}(t - \tau, x_0), \\ , \int_s^{s+T} g(s, x_{m-1}(s, x_0), x_{m-1}(s - \tau, x_0)) ds) dt]$$

$m \rightarrow \infty$

$$(t, x_0) \in R^1 \times D_\beta \quad \dots\dots\dots(11)$$

$$(11) \quad x^\circ(t, x_0)$$

$$x(t, x_0) = x_0 + \int_0^t f(s, x(s, x_0), x(s - \tau, x_0), \int_s^{s+T} g(t, x(t, x_0), x(t - \tau, x_0)) dt) ds + \alpha t$$

$\dots\dots\dots (12)$

:

(1)

$$\|x^\circ(t, x_0) - x_0\| \leq (M\alpha(t) + \beta_1) \leq \left(\frac{MT}{2} + \beta_1\right) \quad \dots\dots\dots (13)$$

$$\|x^\circ(t, x_0) - x_m(t, x_0)\| \leq W^m(1 - W)^{-1} \left(\frac{MT}{2} + \beta_1\right) \quad \dots\dots\dots (14)$$

. $x_0 \in D_\beta \quad t \in R^1$

-:

$$x_1(t, x_0), x_2(t, x_0), \dots, x_m(t, x_0), \dots$$

. (3) (10)

m=1 (10) (1)

$$\|x_1(t, x_0) - x_0\| \leq (M\alpha(t) + \beta_1) \leq \left(M\frac{T}{2} + \beta_1\right) \quad \dots\dots\dots (15)$$

. $t \in [0, T] \quad x_0 \in D_\beta \quad x_1(t, x_0) \in D$

. $m \geq 1$

$$\|x_m(t, x_0) - x_0\| \leq (M\alpha(t) + \beta_1) \leq \left(M\frac{T}{2} + \beta_1\right) \quad \dots\dots\dots (16)$$

$$(16) \quad x_m(t - \tau, x_0) \quad x_m(t, x_0)$$

:

$$\|x_m(t - \tau, x_0) - x_0\| \leq (M\alpha(t) + \beta_1) \leq \left(M\frac{T}{2} + \beta_1\right)$$

...

-

$$x_o \in D_\beta \quad x_m(t - \tau, x_o) \in D_1, x_m(t, x_o) \in D$$

:

$$\begin{aligned} \|z_1(t, x_o)\| &\leq \|z_1(t, x_o) - z_0(t, x_o)\| + \|z_0(t, x_o)\| \leq \left[T(L_1 + L_2) \left(M \frac{T}{2} + \beta_1 \right) + M_1 T \right] \\ &\leq \left[T(L_1 + L_2) \left(M \frac{T}{2} + \beta_1 \right) + M_1 T \right] \end{aligned} \quad \dots\dots\dots(17)$$

$$z_o(t, x_o) \in D_{1\beta} \quad x_o \in D_\beta \quad z_1(t, x_o) \in D_2$$

:

$$\|z_m(t, x_o) - z_o(t, x_o)\| \leq \left[T(L_1 + L_2) \left(M \frac{T}{2} + \beta_1 \right) + M_1 T \right] \quad \dots\dots\dots(18)$$

$$x_o \in D_\beta \quad z_m(t, x_o) \in D_2 \quad x_o \in D_\beta \quad m \geq 1$$

$$z_o(t, x_o) \in D_{1\beta}$$

$$z_m(t, x_o) = \int_t^{t+T} g(s, x_m(s, x_o), x_m(s - \tau, x_o)) ds, \quad m = 0, 1, 2, \dots$$

$$(11) \quad \{x_m(t, x_o)\}_{m=0}^\infty$$

(10)

$$\begin{aligned} x_o + [x_1(t, x_o) - x_o] + [x_2(t, x_o) - x_1(t, x_o)] + \dots\dots\dots + \\ + [x_m(t, x_o) - x_{m-1}(t, x_o)] + \dots\dots\dots \end{aligned} \quad \dots\dots\dots(19)$$

$$x_m(t, x_o) \quad (19)$$

$$\|x_2(t, x_o) - x_1(t, x_o)\| \leq W \left(M \frac{T}{2} + \beta_1 \right) \quad \dots\dots\dots(20)$$

$$W = \frac{T}{2} [(K_1 + K_2) + K_3 T(L_1 + L_2)]$$

$$\|x_3(t, x_o) - x_2(t, x_o)\| \leq W^2 \left(M \frac{T}{2} + \beta_1 \right) \quad \dots\dots\dots(21)$$

$$\|x_{m+1}(t, x_o) - x_m(t, x_o)\| \leq W^m \left(M \frac{T}{2} + \beta_1 \right) \quad \dots\dots\dots(22)$$

$$m=0, 1, 2, \dots\dots\dots$$

$$\begin{aligned} \|x_{m+1}(t, x_0) - x_m(t, x_0)\| \leq & \left\| \int_0^t f(s, x_m(s, x_0), x_m(s-\tau, x_0), \int_s^{s+T} g(t, x_m(t, x_0), x_m(t-\tau, x_0)) dt) ds - \right. \\ & - \frac{t}{T} \int_0^T f(s, x_m(s, x_0), x_m(s-\tau, x_0), \int_s^{s+T} g(t, x_m(t, x_0), x_m(t-\tau, x_0)) dt) ds - \\ & - \int_0^t f(s, x_{m-1}(s, x_0), x_{m-1}(s-\tau, x_0), \int_s^{s+T} g(t, x_{m-1}(t, x_0), x_{m-1}(t-\tau, x_0)) dt) ds + \\ & \left. + \frac{t}{T} \int_0^T f(s, x_{m-1}(s, x_0), x_{m-1}(s-\tau, x_0), \int_s^{s+T} g(t, x_{m-1}(t, x_0), x_{m-1}(t-\tau, x_0)) dt) ds \right\| \\ \|x_{m+1}(t, x_0) - x_m(t, x_0)\| \leq & W^m \left(M \frac{T}{2} + \beta_1 \right) \dots\dots\dots (23) \end{aligned}$$

m=1,2,3.....

$$\|x_m(t, x_0) - x_{m-1}(t, x_0)\| \leq W^{m-1} \left(M \frac{T}{2} + \beta_1 \right) \dots\dots\dots (24)$$

$$(p \geq 1) \quad (23)$$

$$\|x_{m+p}(t, x_0) - x_m(t, x_0)\| \leq W^m \left(M \frac{T}{2} + \beta_1 \right) \sum_{i=0}^{p-1} W^i \dots\dots\dots (25)$$

(25)

$$\|x_{m+1}(t, x_0) - x_m(t, x_0)\| \leq W^m (1-W)^{-1} \left(M \frac{T}{2} + \beta_1 \right) \dots\dots\dots (26)$$

$$(10) \quad (8) \quad (26) \quad (p \geq 1)$$

$$m \rightarrow \infty \quad (11)$$

$$\lim_{m \rightarrow \infty} x_m(t, x_0) = x^\circ(t, x_0) \dots\dots\dots (27)$$

$$x_m(t, x_0)$$

$$x^\circ(t, x_0) = x(t, x_0)$$

$$x_m(t, x_0)$$

$$(14) \quad (13)$$

$$(27)$$

$$(1)$$

. m ≥ 1

$$. (1)$$

$$x(t, x_0)$$

$$(2)$$

$$(1)$$

$$\hat{x}(t, x_0)$$

- :

...

-

$$\hat{x}(t, x_0) = x_0 + \int_0^t f(s, \hat{x}(s, x_0), \hat{x}(s - \tau, x_0), \int_s^{s+T} g(t, \hat{x}(t, x_0), \hat{x}(t - \tau, x_0)) dt) ds + \alpha t \quad \dots\dots\dots(28)$$

$$x_0 \in D_\beta \quad \hat{x}(t, x_0) = x(t, x_0)$$

$$\|\hat{x}(t, x_0) - x_m(t, x_0)\| \leq W^m (1 - W)^{-1} (M^* \frac{T}{2} + \beta_1) \quad \dots\dots\dots(29)$$

$$M^* = \max_{\hat{x} \in D_\beta} |f(t, \hat{x}(t, x_0), \hat{x}(t - \tau, x_0), \int_t^{t+T} g(s, \hat{x}(s, x_0), \hat{x}(s - \tau, x_0)) ds)|$$

$$: \quad m=p \quad (29)$$

$$\|\hat{x}(t, x_0) - x_p(t, x_0)\| \leq W^p (1 - W)^{-1} (M^* \frac{T}{2} + \beta_1) \quad \dots\dots\dots(30)$$

$$\|\hat{x}(t, x_0) - x_{p+1}(t, x_0)\| \leq W^{p+1} (1 - W)^{-1} (M^* \frac{T}{2} + \beta_1) \quad \dots\dots\dots(31)$$

$$\begin{aligned} \|\hat{x}(t, x_0) - x_{p+1}(t, x_0)\| &\leq (1 - \frac{t}{T}) \int_0^t [K_1 \|\hat{x}(s, x_0) - x_p(s, x_0)\| + K_2 \|\hat{x}(s - \tau, x_0) - x_p(s - \tau, x_0)\| + \\ &+ K_3 \int_s^{s+T} (L_1 \|\hat{x}(t, x_0) - x_p(t, x_0)\| + L_2 \|\hat{x}(t - \tau, x_0) - x_p(t - \tau, x_0)\|) dt] ds + \\ &+ \frac{t}{T} \int_t^T [K_1 \|\hat{x}(s, x_0) - x_p(s, x_0)\| + K_2 \|\hat{x}(s - \tau, x_0) - x_p(s - \tau, x_0)\| \\ &+ L_2 \|\hat{x}(t - \tau, x_0) - x_p(t - \tau, x_0)\|] dt] ds + K_3 \int_s^{s+T} (L_1 \|\hat{x}(t, x_0) - x_p(t, x_0)\| \\ &\leq W^{p+1} (1 - W)^{-1} (M^* \frac{T}{2} + \beta_1) \end{aligned}$$

$$(8) \quad (29) \quad m=0, 1, 2, \dots\dots\dots \quad (27)$$

$$\hat{x}(t, x_0) = \lim_{m \rightarrow \infty} x_m(t, x_0) = x^\circ(t, x_0)$$

$$\cdot (11)$$

(2) (1) :

$$\Delta(0, x_0) = \frac{1}{T} \left[(A_1 B_1^{-1} + E)x_0 - B_1^{-1} d_1 + \int_0^T f(t, x(t, x_0), x(t - \tau, x_0)), \right. \\ \left. \int_t^{t+T} g(s, x(s, x_0), x(s - \tau, x_0)) ds dt \right] \Delta(0, x_0) \dots\dots\dots(32)$$

(10) $x^\circ(t, x_0)$

:

$$\Delta_m(0, x_0) = \frac{1}{T} \left[(A_1 B_1^{-1} + E)x_0 - B_1^{-1} d_1 + \int_0^T f(t, x_m(t, x_0), x_m(t - \tau, x_0)), \right. \\ \left. \int_t^{t+T} g(s, x_m(s, x_0), x_m(s - \tau, x_0)) ds dt \right] \dots\dots\dots(33)$$

. $m = 0, 1, 2, \dots$

: 2

-: 1

$$\|\Delta(0, x_0) - \Delta_m(0, x_0)\| \leq W^{m+1} (1 - W)^{-1} \left(M + \frac{2\beta_1}{T} \right) \dots\dots\dots(34)$$

. $x_0 \in D_\beta \quad m \geq 0$

:

(33) (32)

$$\|\Delta(0, x_0) - \Delta_m(0, x_0)\| \leq \frac{1}{T} \int_0^T [K_1 \|x^\circ(t, x_0) - x_m(t, x_0)\| + \\ + K_2 \|x^\circ(t - \tau, x_0) - x_m(t - \tau, x_0)\| +$$

...

$$\begin{aligned}
 &+ K_3 \int_t^{t+T} (L_1 \|x^\circ(s, x_\circ) - x_m(s, x_\circ)\| + \\
 &+ L_2 \|x^\circ(s - \tau, x_\circ) - x_m(s - \tau, x_\circ)\|) ds] dt \\
 & \dots\dots\dots(35) \\
 & (14)
 \end{aligned}$$

$$\|\Delta(0, x_\circ) - \Delta_m(0, x_\circ)\| \leq W^{m+1} (1 - W)^{-1} \left(M + \frac{2\beta_1}{T} \right)$$

. $x_\circ \in D_\beta$

. $m \geq 0$ (34)

: 3

[a, b] (1) $g(t, x, y)$ $f(t, x, y, z)$

:

(33)

$$\left. \begin{aligned}
 \min \Delta_m(0, x_\circ) &\leq -\sigma_m \\
 a + h &\leq x_\circ \leq b - h \\
 \max \Delta_m(0, x_\circ) &\geq \sigma_m \\
 a + h &\leq x_\circ \leq b - h
 \end{aligned} \right) \dots\dots\dots(36)$$

$$h = \frac{MT}{2} + \beta_1 \quad \sigma_m = \|W^{m+1} (1 - W)^{-1} (M + \frac{2\beta_1}{T})\| \quad m \geq 0$$

$$x_\circ \in [a + h, b - h] \quad x_\circ \quad x = x(t, x_\circ) \quad (1)$$

:

$$[a + h, b - h] \quad x_1, x_2$$

$$\left. \begin{aligned}
 \Delta_m(0, x_1) &= \min \Delta_m(0, x_\circ) \\
 a + h &\leq x_\circ \leq b - h \\
 \Delta_m(0, x_2) &= \max \Delta_m(0, x_\circ) \\
 a + h &\leq x_\circ \leq b - h
 \end{aligned} \right) \dots\dots\dots(37)$$

(36) (34)

REFERENCES

1. Butris, R. N. "The existence of periodic Solutions for nonlinear systems of integro-differential equations", Iraq, Mosul, J. Educ. and Sci. Vol.(25), (1994), P.P.(156-167).
2. Butris, R. N. "Existence of a solutions for systems of second-order differential equations with Boundary conditions", Iraq, Mosal, J. Educ. and sci. vol.(18), (1994).
3. Krasoseiski, M. A. "Vector fields", Moscow, (1963).
4. Matthyij, M. M. and Robert, M. M. "Numerical Solutions of boundary value problems for ordinary differential equations", Prentice Hall, Englewood, Cliffs, New Jersey, (1988).
5. Samoilenko, A. M. "A numerical-analytic method for investigation of periodic systems of ordinary differential equations I II", Ukrain, Math. J., No.4,5 (1965, 1966), P.P.(82-93), (50-59).